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1. Write the following complex numbers in either polar or standard form.
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2. Find a formula for arctan z

We S‘o(w ,Fw‘ Wi ?(umr«{F 2 —E-PM ‘hlm__ @?k«j‘l%\ tanw=3 .

Ceo —-Cw
= -2 e e
(AW ¢ e‘W+e~c’o
Pk o & Thew!
~| R
— Y —_
3~ tanw = = - = —-[. “ ‘
Kt o« Eou
Frow hoe (we 9k
W (= (<l
(/\)LM.‘(}\ (LQ‘L‘ -6 %,_ (x(n
(-Ct
71»x = (1%
]\ [ ~rfY
b sqme 1ot (st op e
_‘(""‘51 ch" ,L.‘fii

[(—vE

o ) [t e
(’Z)J cw = Q@ T

,—('L \
[ wus prctiny = w = _\_ gg 9/ (T e

¢ (-t




















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































